
Werkstattwagen  

Art.-Nr. M28266

+49 (0)2191 37 14 71 +49 (0)2191 38 64 77

service@br-mannesmann.de

2 3

4 5 6

7 1 - Werkzeugbox (1 x)
2 - Anti-Rutschmatte (1 x)
3 - Werkstattwagen (1 x)
4 - Türknauf (1 x)
5 - Bremsrolle (1 x)
6 - Bockrolle (3 x)
7 - Verschlussbügel (1 x)
8 - Einlegeboden (1 x)
9 - Ablagefach (1 x)

10 - Verschlussbügel
        für Werkzeugbox (1 x)

A - Montageschlüssel (1 x)
B - Schraube M6 (7 x) 
C - U-Scheibe M6 (5 x) 
D - Sechskantmutter M6 (5 x)
E - Schraube M4 (1 x)
F - Metallschutzecken (2 x)
G - U-Scheibe M6 (2 x)

LEMPSTR. 24 · 42859 REMSCHEID · GERMANY


